
I.D.:	99985905

Nestandardna	roba

Vrsta
ugovora

Roba Datum	objave 16.07.24

Vrsta
objave:

Tender	(sve	vrste	nabavki) CPV	kodovi 44530000

Opis: ;	PARTIJA	1.	ZAVRTNJI	I	NAVRTKE	ZA	VOZILA	O345S	E2/OM457;	PARTIJA	2.	ZAVRTNJI	I	NAVRTKE	ZA
VOZILA	MAN;	PARTIJA	3.	ZAVRTNJI	SA	ŠESTOSTRANOM	GLAVOM	I	VENCEM	MAN	-	KLASE	10.	9;
PARTIJA	4.	ZAVRTNJI	I	NAVRTKE	ZA	AUTOBUS	SOLARIS;	PARTIJA	5.	ZAVRTNJI	ZA	AUTOBUS	HIGER;
PARTIJA	6.	ŠELNE	ALUMINIJUMSKE	MAN;	PARTIJA	7.	ŠELNE	CEVI	MOTORA	I	INTERKULERA	MAN	I
MERCEDES;	PARTIJA	8.	ŠELNE	KVALITETA	MATERIJALA	W2B	DIN	3017;	PARTIJA	9.	SEMERINZI;
PARTIJA	10.	SPOJNICE	BRZOVEZUJUĆE	PRAVE	ZA	PVC	CREVA	VAZDUŠNE	INSTALACIJE;	PARTIJA	11.
SPOJNICE	BRZOVEZUJUĆE	90	ZA	PVC	CREVA	VAZDUŠNE	INSTALACIJE;	PARTIJA	12.	SPOJNICE
BRZOVEZUJUĆE	T	ZA	PVC	CREVA	VAZDUŠNE	INSTALACIJE;	PARTIJA	13.	SPOJNICE	BRZOVEZUJUĆE
ZA	PVC	CREVA	I	DELOVI	VAZDUŠNE	INSTALACIJE	ZA	AUTOBUS	IK	112LE/M;	PARTIJA	14.	SPOJNICE
BRZOVEZUJUĆE	ZA	VOZILA	SOLARIS;	PARTIJA	15.	SPOJNICE	BRZOVEZUJUĆE	G1/2	UNUTRAŠNJI
NAVOJ	(Ž);	PARTIJA	16.	SPOJNICE	BRZOVEZUJUĆE	G1/2	SPOLJAŠNJI	NAVOJ	(M);	PARTIJA	17.
SPOJNICE	BRZOVEZUJUĆE	ZA	CREVO	13	mm;	PARTIJA	18.	PRIKLJUČCI	PRAVI	ZA	PVC	CREVA	(ZA
VAZDUH);	PARTIJA	19.	PRIKLJUČCI	ZA	VAZDUH	ZA	VOZILA	IK;	PARTIJA	20.	PRIKLJUČCI	UGAONI	90,	T
i	KRSTASTE	RAČVE	ZA	PVC	CREVA(ZA	VAZDUH);	PARTIJA	21.	PRIKLJUČCI	REDUKCIONI	ZA	PVC
CREVA;	PARTIJA	22.	NASTAVCI	ZA	BAKARNE	CEVI;	PARTIJA	23.	SPOJNICE	I	PRIKLJUČCI	CREVA
CENTRALNOG	PODMAZIVANJA;	PARTIJA	24.	ZAVRTNJI	OKRETNICE	PRIKOLICE	AUTOBUSA	IK	218N;
PARTIJA	25.	ZAVRTNJI	KARDANSKOG	VRATILA	KT4;	PARTIJA	26.	NAVRTKA,	KRUNASTA	M36X3;
PARTIJA	27.	KOLENO,	REDUKCIONO	15/10	(M22X1.	5/M16X1.	5);	PARTIJA	28.	SELNA,	φ45	STEZAC
CREVA	KOMPRES.	ZIU/TROL/BKM;	PARTIJA	29.	ZAVRTANJ,	VUCNOG	ELEKTROMOTORA	BKM333,	321;
PARTIJA	30.	NAVRTKA,	ZAVRTNJA	VUCNOG	ELEKTROM.	BKM333,	321;	PARTIJA	31.	ZAVRTANJ,
KONTAKT	KONTAKTORA	5	SMD33;	PARTIJA	32.	NAVRTKA,	KRUNASTA	MALOG	TRKACA/OS.	VUC.	MOT.
KT4;	PARTIJA	33:	ZAVRTANJ,	OKASTI	VUCNOG	MOTORA	DUZI;	PARTIJA	34:	PODLOSKA,	BLATOBRANA
RAVNA	LIMENA	KT4;	PARTIJA	35:	NAVRTKA,	AKTUATORA	MUF	KT4;	PARTIJA	36:	.	ZAVRTANJ,	M	5
OPRUGE	ZA	PODESAVANJE	BD13;	PARTIJA	37:	ZAVRTANJ,	M	6	OPRUGE	ZA	PODESAVANJE	BD13;
PARTIJA	38.	VIJAK,	PRITEZNI	NA	TOCKU	PRIKOLICE	B4;	PARTIJA	39:	ZAVRTANJ,	SIGURNOSNI	NOSACA
FERODE	PRIKOLICE	B4S	DUWAG;	PARTIJA	40:	PODLOSKA,	TANJIRASTA	OPRUGE;	PARTIJA	41.
NASTAVAK,	CEVNI	M22X1.	5/M22X1.	5	KONUS	OBOSTR.	;	PARTIJA	42:	OSOVINICA,	KOC.	CILINDRA
φ14	BKM333,	321,	32100S;	PARTIJA	43:	ZAVRTANJ,	M12X1.	5	KARD.	NAJDUZI	ZIU,	TROLZA;
PARTIJA	44:	PRIKLJUCAK,	DUPLI	NIPLI	M20X1.	5	-	M20X1.	5;	PARTIJA	45:	PRIKLJUCAK,	M10X1/M10X1
KOC.	POLUGE	BKM32100S;	PARTIJA	46:	OSOVINICA,	PRIRUB.	PUMPE	UPR.	20101,	333,	32100S;
PARTIJA	47:	ZAPTIVKA,	22X28X1.	5	Cu;	PARTIJA	48:	OSIGURAC,	PREKLOPNI	SA	OPRUGOM	φ7.	5
L42mm;	PARTIJA	49:	ZAVRTANJ,	M14x1.	5x36	12.	9	SAMOOSIGURAVAJUCI	TRUBE	GLAVCINE
OSOVINE	AU	11128/11135	BKM	32100S;	PARTIJA	50:	VIJAK,	M10X250	HANGER	DRVO	-	METAL;
PARTIJA	51:	ZAVRTANJ,	4X45mm	LOMLJIVI	ZA	RUCICE

www.tenderi.hr


